A B ©
81 80.9 8 (79.9 79789 78 (77.9 77 |76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.9
0.0 0.0 0.0 0.0 0.0 0.0 2.0 2.0 0.0 1.0 6.0 16.0] 11.0] 10.0 5.0 0.0 0.0 0.0 53.0
C-)D)C-D)C=-DC=-DC=-D[C=-D[C-D[C-D)]C-)](B/B)[ (66N (727)|(68.89| (0.9D| B.O)|C-)|C-)C-) 70.1
( 0.0|  0.0)| ( 0.0  0.0)| ( 0.00| C 0.00| ¢ 3.8)| ¢ 3.89]| ( 0.0)| ( 1.9] (11.3)| (30.D]| (20.8)| (18.9)] ( 9.9| ( 0.0)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-C=D]C=D]C=DC-D]C=-D]C=DC-D[C=D]C=DC-DC=-DC=-IC-DC-D[C-D[C-D|C-)| 1
( 0.0| ( 0.0)| ( 0.00]| ( 0.0)| ( 0.00| C 0.0| ( 0.0)| ( 0.00] ¢ 0.0)| ( 0.00] ( 0.0)| 100.0)|  0.0)|  0.0)|  0.00]| ( 0.0)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0
C=-)C-D)C-D)C=-DC=-D[C=-D0C=-DC=-D)C-DDC=-DC=-D[C=-D)C-DC-D)C=-DC=-D)C=-D1C-) 71.7
( 0.0| ( 0.0)| ( 0.00] ( 0.0)| ( 0.00| C 0.00| ( 0.0)| € 0.00] ¢ 0.0)| (50.0)]| ( 0.0)| (50.0)| € 0.0| ( 0.0)|  0.00] ( 0.0)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0
C=-D)C-D)1C=-DC=-DC=-D[C=-D[C=-DC=-DC=-DC=-D)C=-DC=-D[C=-DC=-DC=-DC=-DC=-DH[C-) 73.2
( 0.0 ( 0.0)| ( 0.00] ( 0.0)| ( 0.00| ( 0.0| ( 0.0)] (50.00] ( 0.0)| (50.0)]| ( 0.0)| ( 0.00| € 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C=-D)C-D)1C=-DC=-D1C=-D[C=-D[C=-DC=-DC=-DC=-)C=-DC=-D[C=-DC=-DC-DC=-DC=-DHC-) 72.1
( 0.0|  0.0)| ( 0.0 ¢ 0.0)| ( 0.00|  0.0| ( 0.0)|  0.0] ¢ 0.0)| 100.0)| ¢ 0.0)| ( 0.0|  0.0)|  0.0)|  0.0)| ¢ 0.0)| ( 0.0] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-C=D]C=D[CDC=D]C=-D]C=DC=-D[C=D]C=DC=DC-D[C-IC-DC-D[C-D[C-D|C-)| ns
( 0.0|  0.0)| ( 0.0  0.0)| ( 0.00|  0.0|  0.0)|  0.0] ¢ 0.0)|  0.00] (200.0)| ( 0.0 |  0.0)|  0.0)|  0.0)| ¢ 0.0)| ( 0.0] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C=-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C=-DC=-DC=-)C=-)C=-D[C=-D]C-=-DC-D)C=-DC=-H)C-) 71.4
( 0.0|  0.0)| ( 0.0  0.0)| ( 0.00| C 0.0|  0.0)|  0.00] ¢ 0.0)|  0.00] (200.0)| 0.0 | € 0.0)|  0.0)|  0.0)| ¢ 0.0)| ( 0.0] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0
C-D)C-D)C=-D1C=-D1C=-D[C=-D[C-D[C-D]0O)|C-I)CIBY[C-D)[C-D)]C-DC-D|C=-DC=-HC-) 72.5
( 0.0 ( 0.0)| ( 0.00] ( 0.0)| ( 0.00| C 0.0| ( 0.0)|  0.0] (39| (38.3)] (33.3)] ( 0.00]| ( 0.0| ( 0.0)| ( 0.0]|  0.0)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0
C-CD[CDCDC-DCDC-DC-DC-D]C-D]C=D[C=-D]C-D[C-D[C-D[C-D]C=-D]C->] 71
(00900900 C00]C00[C0.0]C0.0]C0.0]C00]C00]|(66.7] (3830000 C00]|C00|CO00|CO00|[ (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C=-D)C-D)1C=-DC=-DC=-D[C=-D[C=-DC=-DC=-DC=-)C=-DC=-D[C=-DC=-DC=-DC=-DC=-DH[C-) 71.3
( 0.0 ( 0.0)| ( 0.0 ( 0.0)| ( 0.00| C 0.0| ( 0.0)| ( 0.00] ¢ 0.0)|  0.00] (100.0)| ( 0.00| € 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 1.0
C=-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C=-DC=-DC=-)C=-DC=-D[C=-DC=-DC-DC=-DC-=-DH[C-) 68.5
( 0.0|  0.0)| ( 0.0  0.0)| ( 0.00|  0.0| ( 0.0)|  0.0] ¢ 0.0)| ( 0.0 ¢ 0.0)| ( 0.0 ¢ 0.0)| 00.0)| ¢ 0.0)| ¢ 0.0)| ( 0.0] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-C=D]C=D1CDC=D]C=-D]C=DC=D]C=D]C=DC=DC-DC-DIC-DC-D[C-D[C-D|C-)| 71
( 0.0|  0.0)| ( 0.0 € 0.0)| ( 0.00| C 0.0| ( 0.0)|  0.00] ¢ 0.0)|  0.00] (200.0)| ( 0.0 |  0.0)|  0.0)|  0.0)| ¢ 0.0)| ( 0.0] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 2.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0
C=-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C-=-)]AWODIC-)C=-D[C-=-D]C-=-D]C-D)C=-DC=-HC-) 73.3
( 0.0] ( 0.0)| ( 0.00] ( 0.0)] ( 0.00| ( 0.00| ( 0.0)| (25.00] (50.0)| (25.00|  0.0)| ( 0.00| ( 0.0| ( 0.0)| ( 0.0] ( 0.0)| ( 0.0] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 1.0
C-D)C-DC=-D1C=-D1C=-D[C=-D[C-D[C-=-D]C=-DC=-)C=-)C=-D]C=-D)C-=-DC-D)|C=-D)C-=-HC-) 69.5
( 0.0 ( 0.0)| ( 0.0 ( 0.0)| ( 0.00| C 0.0| ( 0.0)| ( 0.00] ( 0.0)| ( 0.00] ( 0.0)| ( 0.0 (100.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0
C-)C=-D)[C=-D)C=-DC=-DC=-D0C=-DC=-D)C=-DC=-DC=-D[C-=-D)C-DC-D)C=-DC=-D]C=-D]C-) 72.7
( 0.0| ( 0.0)| ( 0.00] ( 0.0)| ( 0.00| C 0.00| ( 0.0)|  0.0] (50.0)| ( 0.00] (50.0)| ( 0.00| € 0.0| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.00] ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 1.0
C-C=D]C=D1CDC=D]C=D]C-C=-D[C=D1C=DIC=-D]C-D{C-DC-D]C-D[C-D[C-D|C-)| &9
( 0.0] ( 0.0)] ( 0.00] ( 0.0)] ( 0.00| ( 0.0| ( 0.0)|  0.00] ( 0.0)| ( 0.00] ( 0.0)| 0.0 (100.0)| ( 0.0)| ( 0.0)] ( 0.0)| ( 0.00] ( 0.0)| (100.0)




10 3 12
A B C
81 80.9 80]79.9 79]78.9 78|77.9 77| 76.9 76]75.9 75]74.9 74|73.9 73|72.9 72 |71.9 71|70.0 70 |69.9 69 |68.9 68 |67.9 67 | 66.9 66 ]65.9 65 |64.

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 1.0 1.0 0.0 0.0 0.0 0.0 0.0 4.0
C-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-)C-)C66ND[(3BD|@0.)|C-)]C-)C-)C-)C-) 70.7
( 0.0)|  0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)| ( 0.0)] ¢ 0.0)| (50.0)| (25.0)| (25.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0
C-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C-)]A@WOICHENDIC-D[C-D)]C-D)]C-D)|C=-D)C-=-)C-) 71.7
( 0.0)] € 0.00] ( 0.0 ( 0.0)| ( 0.00|  0.00|  0.00| ( 0.0 ( 0.0)| (50.0)| (50.0)| € 0.0)| ( 0.0)| ( 0.0)| ( 0.00| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 2.0
C-)C-D)C-D)C=-DC=-D[C=-D[C-DC-DH)C-DC-D]AD[C-H)]AOO)O[C-)|C=-DC=-D)]C=-D7C-) 70.0
( 0.0 € 0.00] 0.0 ( 0.0)|  0.00|  0.0)|  0.00| ( 0.0)| ( 0.0)| ( 0.0 (50.0)| ( 0.0)| (50.0)| ( 0.0)| ( 0.00| ( 0.0)| ( 0.00| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 1.0 1.0 0.0 0.0 0.0 3.0
C-D)C-D)1C=-DC=-DC=-D[C=-D[C=-DC=-DC=-DC=-D)C=-DC=-D[C-D|C-D]AO|C-)C-=-D)[C=-) 69.1
( 0.0)] C 0.00] C 0.0 ( 0.0)|  0.00|  0.0)|  0.00| ( 0.0)| ( 0.0)| € 0.0)| ( 0.0)| (33.9)| ( 0.0)] (33.3)] (3.3 ( 0.0| ( 0.00| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 2.0 0.0 0.0 0.0 0.0 3.0
C=-D)C-D)1C=-DC=-D1C=-D[C=-D[C=-DC=-DC=-DC=-)C=-DC=-D[C=-DC=-DC-DC=-DC=-DHC-) 70.6
( 0.0)| ( 0.00] ¢ 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] (33.3)| ( 0.0)| ¢ 0.0)| ( 0.0)| ( 0.0)|  0.0)] (66.7)| ( 0.00| ( 0.0)| ¢ 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 2.0 5.0 4.0 7.0 18.0] 21.0] 15.0] 14.0 6.0 0.0 0.0 0.0 2.0
C-D)C-)D)C=-DC=-DC=-D[C=-D[C-)D[C-)]|(18BY| (63.6) (60.0)| (538 (8.6 (&.H| (100.0)| C - )| C-)C-) 70.6
( 0.0)|  0.00] C 0.0  0.0)|  0.00| ( 0.0)| ¢ 2.2)| ( 5.9 ( 4.3)| ( 7.6)| (19.6)| (44.6)| (16.3)]| (15.2)| ( 6.5 | ( 0.0)| ( 0.0)| ( 0.0)| (100.0)




10 3 12
A B ©
81 80.9 8 (79.9 79789 78 (77.9 77 (76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 50| 25.0] 26.0] 18.0 4.0 3.0 0.0 0.0 0.0 85.0
C-D)C-)D)1C=-D1C=-DC=-DH[C-=-D[C-)D)[]C-)]| 0.0 (62.5) (178.6) | (104.0) | (128.6) | (80.0)| (120.0)| C - )| C - )| C - ) 70.6
( 0.00] ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 4.D] ¢ 5.9 (29.4)] (30.6)| (21.2)| ( 4.7| ( 3.5 |  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 4.0
C-D)C-)D)C=-DC=-DC=-D[C=-D[C-D[C-DC=-DC=-)C=-D)C=-D[C=-D]C-DC-D)|C=-D)C=-)C-) 71.6
( 0.00]  0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.00] (75.00| ( 0.0 ( 0.0)| (25.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 1.0 2.0 5.0] 15.0 7.0 2.0 3.0 0.0 0.0 0.0 0.0 0.0 35.0
C-)C-D)C-D)C=-DC=-DC=-DC-D)C-)@EO)|C-DC=-D[C-D)C-DC-D)C=-DC=-D)C=-D7C-) 72.2
( 0.0 ( 0.0)| ( 0.00] ( 0.0)| ( 0.00| ( 0.00| ( 2.9 ( 5.0 (14.3)| (42.89)] (20.0)| ( 50|  8.6)| ( 0.0)| ( 0.00]|  0.0)| ( 0.00] ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 2.0
C-C=D]C=D1C=C=D]C-D[C=C=-D[C-D]C=C-D]C-D[C=-DC-D]C-D[C-D[C-)|C-)| ™o
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ( 0.0)] (50.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| (50.0)| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C=-D)C-D)1C=-DC=-D1C=-D[C=-D[C=-DC=-DC=-DC=-)C=-DC=-D[C=-DC=-DC-DC=-DC=-DHC-) 70.8
 0.0)| ( 0.00] ( 0.0)] C 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)] ¢ 0.00] ¢ 0.0 ¢ 0.0)] (200.0)| ( 0.0)|  0.0)|  0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 4.0 6.0 1.0 1.0 0.0 0.0 0.0 0.0 13.0
C-D)C-)D)1C=-DC=-DC=-D[C=-D[C-D[C-)]C-)] Q0.0 (5.1 (200.0)| (5.0 (0.0 C-)|C-)C-)C-) 70.9
(009]C009]C00]C00]C0.0)[C00)]C00]C00]C00]C77D](308)|(4.)|(7N|(C7.N][C00]CO00|CO00|CO00| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 1.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0
C-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-D)C=-I)ERO[CRD|C-D)]C-D)C-D)|C=-DC-=-)C-) 71.8
(00| (C0D)[C0D)]CO0D|CO0D|CO0D[C0D]C0LY|(BDH|(0.0](3BDI(RDH|(00)]C0DY|CO0O]|CO0O|CO0O|CO00| ((0.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-)C-D)IC=-D1C=-D1C=-D[C=-D[C-D[C-D]C=-D)C=-)C-)[QA0D[C-D)]C-D)]C-D)|C=-DC-)C-) 70.3
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ¢ 0.0)| ( 0.0)] (100.0) | ¢ 0.0)| ¢ 0.0)|  0.0)|  0.0)| ( 0.0)|  0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 40| 140 21.0] 15.0] 10.0 1.0 1.0 0.0 0.0 67.0
C-)C-D)[C-D)C=-DC=-D[C=-D[C-)C-)(RB.0] (66.7D] (93| (105.0)| (6.4 | 29| (186D C-)|C-D)]C-) 70.2
( 0.0| ( 0.0)] ( 0.00] ( 0.0)|  0.00| C 0.0| ( 0.0)| ( 0.0] ( 1.5)| ( 6.0)] (20.9)]| (31.)]| (2.9]| (14.9] ( 1.5]| ( 1.5| ( 0.00]| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 7.0 8.0 4.0 0.0 0.0 0.0 0.0 0.0 2.0
C=-D)C-D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-)I/)Y[(BY[(57D| (8O C-D)|C-D)|C=-DC-=-DH[C-) 70.9
( 0.0 ( 0.0)| ( 0.0 ( 0.0)| ( 0.00| ( 0.0| ( 0.0)|  0.00| ( 0.0)| (13.6)] (31.8)| (36.9)]| (18.2| ( 0.0)| ( 0.0)]| ( 0.0)| ( 0.00] ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 1.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 3.0
C=-D)C-D)1C=-DC=-D1C=-D[C=-D[C-D[C=-DC=-DC=-D)C=-DC=-D[(0D|C-D)C-D)C=-DC-=-DH[C-) 71.6
( 0.00| ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] (38.9)] ¢ 0.00] (33.3)] ¢ 0.00| (33.3)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 1.0 5.0 8.0 18.0] 32.0] 28.0] 10.0 8.0 0.0 0.0 0.0 0.0 110.0
C-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-D)O0DIC-D)C-D]C-DC-DC-D)|C=-DC=-HC-) 71.3
( 0.00| ( 0.0)] ( 0.0)] C 0.0)] C 0.0)| ( 0.0)| ( 0.9)] ( 45| ¢ 7.3)| (16.4)] (2.0 (25.5 | ( 9.1)|  7.3)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 1.0] 10.0| 36.0] 82.0|] 166.0| 135.0] 66.0] 22.0 4.0 2.0 1.0 0.0 525.0
C=-D)C-D)1C=-D1C=-D1C=-D[C=-D[C-)](990.9]| (40.0)| (186.4)| (146.9) | (75.4) | (47.5)| (47| ABHY| C - )| C - )| C-) 71.1
( 0.00]  0.00] ( 0.0)]  0.0)| ( 0.0)|  0.0)| ( 0.2] ( 1.9)] ( 6.9 (15.6)] (31.5)] (5.7 (12.6)| ( 4.2)| ( 0.8)| ( 0.9)| ( 0.2)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 10.0] 32.0] 45.0] 240 14.0 5.0 3.0 0.0 0.0 136.0
C-D)C-)DIC=-D1C=-D1C=-D[C=-D[C-D[C-)]C-)]|@BBIY|1A28.0)| (195.7)| (8&.7)| (6.0)| (5.6)| R0.0)| C - )| C - ) 70.3
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.00] ( 2.2| ( 7.8]| (23.5)] (38.D)] (17.6)| (10.3)| ( 3.0| ( 2.2)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-)C=-D)[C=-D)C=-DC=-DC=-D0C=-DC=-D)C=-DC=-DC=-D[C-=-D)C-DC-D)C=-DC=-D]C=-D]C-) 72.9
( 0.00] ( 0.00] ( 0.0)]  0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] (100.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)|  0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 24.0] 49.0] 42.0] 30.0 8.0 1.0 0.0 0.0 0.0 157.0
C-D)C-D)C=-D1C=-D1C=-D[C-=-D[C-)D[C-)](30.0] (109.1)| (128.9)| (8.7 | (107.1)| 20.00| C - )| C - )| C-D)[C-) 70.8
( 0.0] ( 0.0)| ( 0.00] ( 0.0)] ( 0.00| ( 0.0| ( 0.0)| ( 0.00] ( 1.9)]| (15.3)] (31.2)| (26.8) ]| (19.D| ( 51| ( 0.6)]| ( 0.0)| ( 0.00] ( 0.0)| (100.0)




3 10 3 12
B C
81 80.9 8 (79.9 79789 78 (77.9 77 |76.9 76 |75.9 75(74.9 74 (73.9 73|72.9 72719 71(70.9 70 [69.9 69 |68.9 68 |67.9 67 [66.9 66 |65.9 65 |64.9
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 2.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0
C-C=D]C=D1CDC=D]C=D]C-DC=-D[C=D]C=DC=D[C=D[C-DC-DC-D[C-D[C-D|C->| 7o
( 0.00] ( 0.0)] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] € 0.00] ¢ 0.0)] (33.3)] (66.7)|  0.0)| ( 0.0)| ( 0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.0/ 36.0] 65.0] 57.0] 33.0 9.0 0.0 0.0 0.0 0.0 206.0
C-)D)C-)D)C=-D1C=-D1C-=-DH[C-D[C-)D[C-)]|1A0.0| (0.0 (97.0)| (W7.5)| 2. | (B.O| - )| C-)|C-)C-) 71.0
( 0.00] ( 0.00] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.00] ( 2.9)| (17.5)] (31.5)| (27.7)| (16.0)| ( 4.9)| ( 0.00| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C=-)C-D)C-D)C=-DC=-D[C=-D0C=-DC=-D)C-DDC=-DC=-D[C=-D)C-DC-D)C=-DC=-D)C=-D1C-) 70.8
( 0.00] ( 0.00] ( 0.0)| ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ( 0.0)] ¢ 0.0)| ( 0.0)] (200.0) | ( 0.0)| ( 0.0)|  0.0)|  0.0)| ( 0.0)|  0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0
C=-D)C-D)1C=-DC=-DC=-D[C=-D[C=-DC=-DC=-DC=-D)C=-DC=-D[C=-DC=-DC=-DC=-DC=-DH[C-) 74.4
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] (50.0)| ( 0.0)] (50.0)| ( 0.0)| ¢ 0.00| ( 0.00|  0.0)|  0.00|  0.00|  0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 0.0 40 23.0] 30.0| 3.0] 1.0 5.0 1.0 0.0 0.0 107.0
C-D)C-D)C=-DC=-D1C=-D[C=-D[C-D[C-)]C-)]C667|(8.5)| (57| (75.6)| (73.3)| (166.7)| (100.0)| C - )| C - ) 70.1
 0.0)| ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)|  0.0)| € 0.0)| ( 1.9)| € 0.00] ¢ 3.7)| (21.5)| (28.0)| (29.0)| (20.3)| ( 4.7 |  0.9)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-D)C-D)C=-D1C=-DC=-D[C=-D[C-D[C=-DC=-DC=-)C=-D)C=-D[C=-DC-=-DC-DC=-DC-=-HC-) 70.5
( 0.0)| C 0.00] ( 0.0)| C 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ¢ 0.00] ¢ 0.0 ¢ 0.0)] (200.0)|  0.0)|  0.0)|  0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 1.0 0.0 0.0 2.0
C-C=D]C=D]CDC=D]C=-D]C=DC=-D[C=D]C=DC=-D[C=-D[CID[C-DC-D[C-DC-D|C-)] 3
( 0.00] ( 0.0)] ( 0.0)] C 0.0)] C 0.0)| ( 0.0)| ( 0.0)] ( 0.0)] ¢ 0.00] ¢ 0.0 ¢ 0.0 ( 0.0)| (50.0)| ( 0.0)| ( 0.0)| (50.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 40 2.0] 7.0] 189.0] 263.0] 173.0] 63.0 9.0 5.0 1.0 0.0 804.0
C-D)C-DC=-D1C=-D1C=-DH[C-D[]C-)]ABI| (137.5)| (92.6)| (126.0) | (130.2) | (114.6) | (6.9 | (112.5)| (62| C - )| C - ) 70.5
( 0.00]  0.00] ( 0.0)|  0.0)| ( 0.0)|  0.0)|  0.0)| ( 0.5)] ( 2.D]| ( 9.3)] (23.5)] (3.9 (21.5)| ( 7.8)| ( .| ( 0.6)| ( 0.1)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 4.0 13.0] 74.0| 2201.0| 328.0| 2/6.0] 169.0| 69.0] 27.0 3.0 1.0| 1,185.0
C-)C-D)[C-D)C=-DC-D[C-D[C-)@0.0(72.2)] (96.D)| (N6)| (H4.5)]| (82| (77.2)| (63.9| (75.00| (16.7)| (25.0) 70.0
( 0.0| ( 0.0)| ( 0.0 ( 0.0)|  0.00| C 0.00| ( 0.0)| ( 0.3)]| ( 1.D)]| ( 68.2] (18.8)| (27.D)]| (2.3)] (14.3)]| ( 58| ( 2.3)|  0.3]| ( 0.1)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 3.0 15.0] 32.0| 7.0 70| 380] 190 7.0 3.0 0.0 0.0 264.0
C-)D)C-D)1C=-D1C=-D1C=-D[C=-D[C-)D)[(.0]| (8. (¥ (1071 (141.2)| (190.00| (1.1)| X0.0)| C - )| C - D) C-) 70.8
( 0.0 ( 0.0)| ( 0.0 ( 0.0)|  0.00| C 0.0| ( 0.0)| ( 1.D| ( 5| (22.D]| (8.9 (27.9]| (14.H| ( 7.2]| ( 2.| ( 1.1)|  0.00]| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 2.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 5.0
C-C=D]C=D1CDC=D]C=D]CDC=D]C=-D[C=DC-D[C-D[C=-DC-DC-D[C=-DC-)]C-)] 72
( 0.00| ( 0.00] ( 0.0)] ( 0.0)] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)] ¢ 0.0)] (40.0)| (40.0)| ¢ 0.0)|  0.0)| (20.0)|  0.0)|  0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 40| 30.0] 119.0| 39.0| 914.0| 1,010.0| 725.0] 339.0] 105.0| 43.0 5.0 1.0| 3,745.0
C-DC-)C-DC-D[C-)C-)| 0.0 @0.0)| (116.7)| (117.1) | (110.8) | (100.8) | ( 88.0) | ( 81.3)| ( 72.9) | ( 93.5) | ( 25.0) | ( 25.0) 70.5
( 0.0)| ( 0.00] ( 0.0)] ( 0.0)] C 0.0)|  0.0)| ( 0.0)| ( 0.8)] ¢ 3.2| (10.0)] (24.8)| (41.7)| (19.9)| ( 9.0)|  2.8)| ( 1.1)| ( 0.1)| ( 0.0)| (100.0)




B C
81 80.9 80 |79.9 79|78.9 78 |77.9 77 |76.9 76 |75.9 75|74.9 74 |73.9 73|72.9 72 (719 71([70.9 70 |69.9 69 |68.9 68 |67.9 67 [66.9 66 [65.9 65 |64.9

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0
C-)D)C-D)C=-DC=-DC=-D[C=-D[C-D[C-D)]A)|C-I)C=-)C=-D[C=-D]C=-DC-DC=-DC=-HC-) 72.3
( 0.0)|  0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)] (50.0)| ( 0.0)| (50.0)| ¢ 0.0)|  0.0)|  0.0)| ¢ 0.00| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)




